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 . 
Roll No.  
 
 

 ()
SANSKRIT (Elective) 

 :   : 100 

  : 3    :  100 
Time allowed : 3 hours Maximum Marks : 100 

 

       -    15   

 -            -  -    

       -  16    

         ,       

  -     15        -     10.15  
   10.15   10.30     -         
-       

 Please check that this question paper contains 15 printed pages.  

 Code number given on the right hand side of the question paper should be written on the 
title page of the answer-book by the candidate. 

 Please check that this question paper contains 16 questions. 

 Please write down the Serial Number of the question before attempting it. 

 15 minute time has been allotted to read this question paper. The question paper will be 
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 

 

H$moS> Z§.
Code No.  49

   -  - 
    
Candidates must write the Code on 
the title page of the answer-book. 
 

 Series : BVM/1 

SET – 4 



 

49 2    

:      ,   

       ,          
Instructions : Answer all questions in Sanskrit, unless instructions are given otherwise. 
 

         

   -      
  There are four sections in this question paper. 

 

 

     –  ( – ) 15   

Section A  : (Unseen Reading Comprehension) 

 
     (   ) 15  

Section B  :  (Writing Skills in Sanskrit) 

 
    –      40 + 10 = 50 

  ( –     ) 

Section C  :  (Reading Comprehension & Introduction to 

  History of Sanskrit Literature) 

 
    (  )  20  

Section D  :  (Metres and Figures of Speech) 
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P.T.O. 

       (Section A)       15  

      –  
      – 

     Unseen Reading Comprehension 
 

1.         5  

              

 Read the following passage and answer the given questions in Sanskrit :  

       ,      
        –         
         ,       
                 
       

 

()    ( )  ½  2 = 1 

      (  )

  Answer in one word. (Any two) 

 (i)     ? 

(ii)    ? 

  (iii)      ? 

()    ( )  1  2 = 2 

      (  )

  Answer in a complete sentence. (Any two) 

(i)     ? 

(ii)     ? 

  (iii)      ?
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()    ( )  1  2 = 2 

    (  )
  Answer as directed. (Any two) 

  (i) ‘’     ?

  (ii) ‘’       ? 

  (iii) ‘’     ? 

 

2.         10   

              
 Read the following passage and answer the given questions in Sanskrit. 

    ;           
   ,    
            
  ----      
              
       -          

  

()    ( )  1  2 = 2 

      (  )
   Answer in one word. (Any two) 

   (i)      ? 

(ii)    ? 

   (iii)    ? 

()    ( )  2  2 = 4 

      (  )
   Answer in a complete sentence. (Any two) 

(i)       ? 

(ii)      ? 

   (iii)     ?
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P.T.O. 

()    ( )  1  2 = 2 

    (  )

   Answer as directed. (Any two) 

   (i) ‘’     ?

   (ii) ‘’       ? 

   (iii) ‘’     ? 

 

  ()       2  1 = 2 

             

   Write a suitable title for this passage in Sanskrit. 

 

      (Section B)        15  

   -  

   - 

   Writing Skill 

 

3.        1  5 = 5 

          

 Rewrite the following sentences according to the story. 

 (i)        

 (ii)         

 (iii)      

 (iv)         

 (v)         
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4.            
    1  5 = 5 

                   
     

 Write five sentences in Sanskrit with the help of the words given in the box or 
yourself on any one topic given below.    

    

 

, , , , , , , , ,  , 
, , , , , ,           

 

   - 

 

, , , , , , , , , , 
, , , , , ,             

 

5.      1  5 = 5 

         
 Translate following sentences into Sanskrit. 

 (i)        

 (ii)          

 (iii)       

 (iv)      

 (v)        
 (i) Manoj writes a letter to the father. 

 (ii) We both go home for the food. 

 (iii) He is a friend of Shyam. 

 (iv) Students read Sanskrit. 

 (v) Saint went to the forest for meditation.  
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      (Section C)       40 + 10 = 50  

   -   

   -      

   Reading Comprehension & Introduction to History of Sanskrit Literature  
 

6.         5  
                
 Read the following prose passage and answer the given questions in Sanskrit : 

            
            
               
       

 
()    ( )  ½  2 = 1 

      (  )
   Answer in one word. (Any two) 

(i)     ? 

(ii)     ? 
   (iii)    ? 

()    ( )  2  1 = 2

      (  )
   Answer in a complete sentence. (Any one) 

   (i)     ? 
   (ii)    ? 

  ()    ( ) 1  2 = 2  

    (  )
   Answer as directed. (Any two) 

   (i) ‘’     ?
   (ii) ‘’       ? 
   (iii) ‘’     ? 
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7.         5   

               

 Read the following poetry and answer the given questions in Sanskrit : 

  ,      

       ,     

   

()    ( )  ½  2 = 1 

      (  )

   Answer in one word. (Any two) 

   (i)    ? 

   (ii)    ? 

   (iii)    ? 

()    ( )  2  1 = 2

      (  )

   Answer in a complete sentence. (Any one) 

   (i)    ? 

   (ii)     ? 

  ()    ( )  1  2 = 2 

    (  )

   Answer as directed. (Any two) 

   (i) ‘’    ? 

   (ii) ‘’        ? 

   (iii) ‘’      ? 
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P.T.O. 

8.         5  

              

 Read the following Drama passage and answer the given questions in Sanskrit : 

    ! (  )     
  

    !    ( ) ,    , 
-      !     

    (, , )  !    ?   
        

  

  ()    ( )  ½  2 = 1 

      (  )

   Answer in one word. (Any two) 

   (i) ‘ ’     ? 

   (ii)     ? 

   (iii)     ? 
 

()    ( )  2  1 = 2

      (  )

   Answer in a complete sentence. (Any one) 

   (i)    ? 

   (ii)     ? 
 

  ()    ( )  1  2 = 2 

    (  )

   Answer as directed. (Any two) 

   (i) ‘’     ? 

   (ii) ‘’     ? 

   (iii) ‘’       ? 
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9.       – ( ) ½ × 4 = 2  

         ( ) 

 Match the words with their meanings and rewrite the same. (Any four)  

()    (i)   

 ()    (ii)  

 ()    (iii)  

 ()    (iv)  

 ()    (v)  

 ()    (vi)   
 

10.        ( )  1  4 = 4  

        -   ( )   
 Frame questions on the basis of the underlined words in the following  

sentences. (Any four) 
(i)  ‘’    

 (ii)     

 (iii)     

 (iv)       

 (v)       

 (vi)       

 

11.      ( )  3  2 = 6 

                  ( )  
 Fill in the blanks in the following explanations with the help of the words given in the 

box. (Any two) 

 () “    

           ”   

   

     (i)_____   ,  (ii)_____       

      (iii)_____       
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P.T.O. 

 ()     
     
   

    ,  (i)_____       (ii)_____   
  (iii)_____   

 

 ()         
        2   

      –    (i)_____        
     (ii)_____         (iii)_____   

 

 
, , , , , , , 

,  
  

12. -    ( )   1  3 = 3 

            ( )
 Fill in the blanks in the following prose-order-renderings of the Verse. (Any one) 

 ()    
      
      
       
   

     (i)_____   (ii)_____    (iii)_____ 
    

  

 ()     
      
   
       
   

  (i)_____ !   (ii)_____    (iii)_____  
  
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13.     10    

     
 Answer as directed. 

 ()     – ( ) 1  2 = 2 

      – ( ) 
  Select the subject and the verb. (Any two) 

  (i)       

  (ii)  ‘’    

  (iii)      

 

 ()     – ( ) 1  2 = 2     

       – ( )   
  Select the adjective and special word. (Any two) 

  (i) -       

  (ii)      

  (iii)       
 

 ()     ? ( ) 1  2 = 2    

             ? ( ) 
  In the following lines for whom are the underlined pronouns used ? (Any two) 

  (i)         

  (ii)       

  (iii)         

 

 ()    ? ( ) 1  2 = 2 

       ? ( )     
  Who is saying this to whom ? (Any two) 

  (i)       

  (ii)           

  (iii)        
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P.T.O. 

 ()     ( ) 1  2 = 2 

      ( ) 
  Select the synonyms of the given words. (Any two) 

  (i)  

            

  (ii)   

           

  (iii)   

         
  

14. ()        1  5 = 5 

            
  Write the name of any one work of each of the following poets : 

  , , , . ,       
  

 ()      ( ) 1  5 = 5 

          ( )   
  Write the names of the authors of the following works : (Any five) 

  ,  , -, -, , , 
    

 

      (Section D)                                      20  

   

      
   Metres and Figures of Speech 
 

15. ()    ( ) 1  2 = 2 

       ( )
  Answer the questions. (Any two) 

  (i) ‘’  ‘’     ?

(ii)     

  (iii) ‘’    ? 
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()    ( )  1  4 = 4  

        ( )

  Complete the following definitions. (Any four) 

  (i)  ________   

 (ii) ________   

 (iii)  ________    

(iv)  ________  

  (v)   ________   

()     ? ( )   1  2 = 2 

   -    ? ( )

  What is the metre in the following lines ? (Any two) 

  (i)      

  (ii)      

  (iii)      
 

()      2 

        

  Write an example of any one of the metres :  

  (i)  (ii)    
 

16. ()        3  

            

  Write the definition and example of any one of the figures of speech : 

   (i)  (ii)  

 ()       3   

         

  Define and illustrate any one of the figures of speech : 

  (i)  (ii)   
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 ()     ( ) 1  2 = 2   

          ( )  

  Indicate the figure of speech in the following lines. (Any two) 

(i)        

(ii)   - ,    

  (iii)       

()    ( )  1  2 = 2

      ( ) 

  Complete the following definitions of the figures of speech. (Any two) 

  (i)   ________ 

(ii) ________   

  (iii)   ________   

_______________  
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